:\ ] =]
o = BT KGX 5l
5 = i
B:TEAFR
KG|-11006|-|T
I I I
d 2 &)
@ Z H | KG---ZEhEE
@ H OB | RREFRS
TR
®| ® % |F-HFRE
L BILEYR
WS EEEERG
) T e —rg
[ _“%varﬂ* I
U 4 _.@,_ ________ .___©_
X \ . L/__ ______ =h

.
= I
1@IE%T§/4

'
BERE / PENESR —ﬁﬁ—/

FMEEBRLAT HHuEgR1535%




7
¥

B 2 m
T#
MOXP l
M) AN
/ g 1w il O 4 ____(’r"‘ ~:__ [=] A . / 4
o -y {(©
DI & "/
MIXP |
el \f/
F B G|
C E N H
A
8T
1R MO(DXP A B C D E F G H N | Upie®
KG-1004T | M4X07 | 245 | 8 9 12 2 4 4 8 7 05
KG-1005T | M5X0.8 | 38 14 15 18 3 5 5 11 | 9 05
KG-1006T | MBX10 | 38 14 15 18 3 6 5 11 | 9 05
KG-1008T | M8X1.25 | 50 18 20 | 24 4 8 7 14 | 12 05
KG-1010T |[M10X1.25/1.5] 59 20 22 | 26 5 10 7 17 | 14 075
KG-1012T |[M12X1.25/1.5] 57 20 22 | 28 5 12 8 19 | 12 075
KG-1014T | M14X15 | 70 21 24 35 7 14 8 22 | 17 1
KG-1016T | M16X15 | 90 26 28 .| 45 9 16 13 | 28 | 24 1.25
KG-1018T | M18X15 | 90 26 28 | 45 9 18 13 | 28 | 24 125
KG-1020T M20X1.5 103 30 32 55 10 20 16 32 27 2
KG-1022T | M22x16 | 103 | 30 32 | 55 10 | 22 16 | 32 | 27 2
KG-1024T | M24Xx15 | 124 | 35 38 | 61 12 | 24 19 | 41 | 33 25
KG-1026T | M26X15 | 130 | 43 45 | 61 12 | 26 19 | 41 | 33 25
KG-1027T | M27X2.0 | 153 | 63 65 | 63 | 20 | 27 19 | 41 33 3
KG-1030T | M30X15 | 153 | 57 59 | 63 | 20 | 30 18 | 41 33 4
KG-1036T | M36X1.5 | 195 | 80 82 | 75 18 | 36 22 | 50 | 41 25
ERRBAN : Z2B10kg/cm® AT , BB 70kg/cm® AT

FIMNEEERAT HEuEe®R153%




BZEm

N7

P

s

EEEE]

KGx=si

FR KG-1008F~KG1014F KG-1016F~KG1036F
1 1
S, — 2 ;
:’:.:_:_q-l (Z & Sl 4 o T - - :t’:___:_ - \",L é_ -
= JE
- u/ o] “E_w o]
el N 8 Jrl N
A 2-4 A
R
A MIXP A B L G D T J G H N | UsisE
KG-1008F | M8X1.25 37 | 25 | 52 | 40 | 24 6 7 7 14 | 12 0.5
KG-1010F | M10X1.25/1.5| 46 | 32 | 56 | 44 | 26 9 7 7 17 | 14 075
KG-1012F | M12X1.25/1.5| 44 | 32 | 56 | 44 | 28 9 7 8 19 | 12 0.75
KG-1014F | M14X15 57 | 38 | 80 | 60 | 35 | 12 | 1 8 22 | 17 1
KG-1016F | M16X1.5 77 | 74 - 45 | 45 | 15 11 | 13 | 28 | 24 1.25
KG-1018F | M18X1.5 77 | 74 . 45 | 45 | 15 11 | 13 | 28 | 24 125
KG-1020F | M20X1.5 89 | 100 | - 62 | 55 | 18 | 14 | 16 | 32 | 27 2
KG-1022F | M22X15 89 | 100 | - 62 | 55 | 18 | 14 | 16 32 | 27 2
KG-1024F | M24x15 | 107 | 100 | - 70 | 61 | 21 | 14 | 19 | 41 | 33 2.5
KG-1026F | M26X15 | 107 | 100 | - 70 | 61 | 21 | 14 | 19 | 41 | 33 25
KG-1027F | M27x2.0 | 120 | 100 | - 70 | 63| 21 | 14 | 18 | 41 | 33 25
KG-1030F | M30X15 | 120 | 100 | - 70 | 63 | 21 | 14 | 18 | 41 | 33 2.5
KG-1036F | M27x2.0 | 133 | 130 | - 95 | 75 | 25 | 16 | 22 | 50 | 41 3
LA  KG-1008L~KG1014L KG-1016L~KG1036L
A A
G L G
4y 5
o E| (e SRNE S
L \_ U]:ITT%TTE‘.’;“] = [:‘T’."f;“.l L \-
N I - v N_| \MIXP
‘ - e el
2o
Ty MIXP Al B|lc|D|lE|lF|K|L|T|J]|G]|H| N U
KG-1008L| M8X1.25 66| 44 | 15 24 | 26| - [ 56| 20| a | 9 | 7 | 1a] 12 0.5
KG-1010L|M10X1.25/1.5| 80| 44 | 19| 26 | 26| - |69 [ 35| 5 | 9 | 7 [ 17[ 14 | o075
KG-1012L | M12x125/15| 78| 44 | 19| 28 [ 26| - [ 67 | 35| 5 | 9 | 8 | 19] 12 | 075
KG-1014L| M14x15 | 105 66 | 22 | 35 | 36| - |895| 56 | 10| 14 | 8 | 22 | 17 1
KG-1016L| M16X15 | 149| 60 | 28 | 45 | 32 [ 32103 90 | 15| 11 | 13| 28| 24 | 125
KG-1018L| M18X15 | 149| 60 | 28 | 45 | 32| 32| 103 90 | 15| 11 | 13| 28| 24 | 125
KG-1020L| M20X15 |178| 68 | 35 | 55 | 36 | 36 | 125| 106| 20 | 14 | 16 | 32| 27 ]
KG-1022L| M22x15 | 178| 68 | 35 | 55 | 36 | 36 | 125| 106| 20 | 14 | 16 | 32| 27 2
KG-1024L| M24x15 | 198| 68 | 42 | 61 | 36| 36 |145] 12| 20 | 14 | 19| 41|33 | 25
KG-1026L| M26X15 | 204| 68 | 42 | 61 | 36| 36| 151 112| 20 | 14 [ 19| 41|33 | 25

MMNEEBRLT HEuEE8153%




